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Instructions
- Time = 70 minutes
Total Marks: 64
Write using blue or black pen.
Start each question in a new booklet.
Calculators may be used.
-Attempt all Questions 1 - 8.
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Question 1 (8 Marks) - Start on a new sheet
a) If a> b >0 whichofthe following Is ALWAYS NEGATIVE:

(A) .|—ab]
b

®

(C).r h—a

™ a?

b} - Sketch the region defined by y <+2-=x

’ 3x
¢} By showing suitable working state whether f(x) = o is
odd, even or neither. ’

d} Drawaneatsketchof y = |x—2] showin};r all relevant features.

Marks _
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Question 2 (8 Marks) - Start on a new sheet - Marks Question 3 (8 Marks) - Start on a new sheet Marks
a) The domain of y = v4 —x% is: S ' 1 a) Draw a neat sketch of y = x2—2 and y = x| on the same axes and use
' your graph to solve x? — 2 < |x]. 3
(A) x=2
(B) x<-2
C —-2=<x=s2 )
© : s b) On the sheet at the back of this test complete the graph of y = f(x) given
(D) O0<xx2 v == f{x} isan even function,
b) Solve [2x—1]=7. . 3
&) Shetch the ODD function that has: ] 3
AN
' « fO=0
Gﬁf ) . 2 s asymptotesat x = +2
N o when x< -2, f(x) <0
/\ o when —2<x<0, f(x)>0
; by . s+ asx-——o, f(x)-0
-2 -1 o s ‘

Thisis a graph of ¥y = x?(x + 2)(x — 1). Use ittosolve x*(x +2)(x —1) <0,

Draw a neat sketch to show the solution of (x + 3)(2 —x) >.0.
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Question 4 (B Marks) - Start on a new sheet Marks Question 5 (8 Marks) - Start on a new sheet Marks
a) The exactvalue of sin(—225°) is: 1 a) Theareaof AABC can be found using the formula: 1
. . 1
@ V3 e (A A=<absingC
2 - T 2
1
—4/3 B ==gabcosC
@ L2 ® 4=
1 (C) absinC
© 7
(D) abcosC
-1
@ 5
b) Find x correctto 1 decimal place. 2
.2 - -
by If0°< 8 <90°and sinéd =5 write down the EXACT value oft 2
(i) cos@.
(ii) cot@.
A ¢} If cosec =1.7 and & isobtuse find 4 tothe nearest degree. 2
Find the size of 8, giving reasen if: 2
AB =AC = AD - d) Prove AB||DE. 3
ABIDC : :
ZABC = 70° E
> ,
. : 1
d) Solve sin(x —280°) =+ for 0° < x < 360°. . 3 _
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Question 6 {8 Marks) - Start on a new sheet Marks
a) Find & to the nearest minute. 2
b)Y A car travels 90km from Town A to Town B ona bearing of 074°T and
then travels 120km to Town C on a veering of 140°T. :
() Calculate the distance AC. 2
(ii} Find the bearing of Town A from Town C. i
c) - A In AABC, D is the midpoint of BC
and AD L BL, as shown in the

diagram. Prove AABC is isosceles
by showing AB = AC.
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Question 7 (8 Marks) - Start on a new sheet Marks
. ... cos(50-8) '

a lify ——

) Simplify sing 1
b) Find & tothe nearest degree. 2
cy If 0° < 6 < 720° and sin @ = 0 write down all possible values of 8. 2

Band € are the midpoints of AD
and AE respectively,

Prove BC =§DE.
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Question 8 (8 Marks) - Starton a new sheet Marks
a) Prove (1 —tanx)? 4 (1 +tanx)* = 2sec’x. 3

b)

¢ o B

S‘ A"f - R

PQRS is a parallelogram. The point A is on RS, the point B is on PQ and
AP = BR = R(@ as shown on the diagram.

(i) Whydoes 2PSA = £BQR. 1
(i) ShowlPS = AP . ) 1
(iii) Show APAS = ARBQ. 2
(iv) Hence prove PBRA isaparallelogram. 1

"End of Paper
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